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2(2x+4) +3(Gx+1) 3(—4x+3) —5(5x—2)
=4x+8+15x+3 =—12x+9—-25x+10
=4x+15x+8+3 =—12x—-25x+9+10
=19x+11 =—-37x+19
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® 2(8x—-6)—-5(4x+2) @ -3(7x+9) +2(5x—-2)
® 4(3x+5)+3(—-2x—-17) ® 2(6x—8)—-5(—-2x+4)
@ —-5(-5x+1)+7(8—-7) 3(—=6x—3) —5(—4x-5)

BIREE - T OERT D> O0—RTG1 MNE [BHDY R THE  https://www.okadori.net ©BMDYRIIL



v B
1RRDME, ik, TEDBU LR
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=4x+8+15x+3
=4x+ 15x+8+3
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3(—4x+3) —5(5x—2)
= —12x+9-25x+10
= —12v-25x+9+10
=—-37x+19
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© 4(B3x+2)+2(4x+7)
=12x+8+8x+ 14
=12x+8x+8+ 14
=20x + 22

@ 2(8x—6)—-5(4x+2)
=16x—12—-20x—10
=16x—20x—12-10
= —4x—22

® 4(3x+5)+3(—2x-7)
=12x+20—-6x—21
=12x—6x+20—21
=6x—1

@ —-5(-5x+1)+7(8x—7)
=25x—5+56x —49
=25x+56x—5—-49
=81x—54
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@ 2(6x+5)—-5(2x—3)
=12x+10—-10x+ 15
=12x—10x+ 10+ 15
=2x+25

@ -3(7x+9) +2(5x—2)
=—-21x—-27+10x—4
= —2lx+10x—27—4
= —11x-31

® 2(6x—8)—5(—2x+4)
=12x—16+10x—20
=12x+10x—16 — 20
=22x— 36

3(=6x—3) —5(—4x—5)
= —18x—9+20x+ 25
= —18x+20x—-9+25
=2x+16
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